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1.

. WZ 1L XY
Given :
LYWZ = /XWZ

Prove: VW EVW

Hour:

8.1B Congruent Triangle Proofs

Statement

Reason

WZ L XY

ZWZX and ZWZY  are right angles

IWZX = ZNZY

Plw| NP

LYWZ = LXWZ

u

WZ =WZ

o

aWXZ = AWYZ

WX =WY
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2.

Given: x is the midpoint of VW
ux LVvWwW

Prove: £V = /W

Statement

Reason

x is the midpoint of VW

VX =WX

UX LVW

ZUXV and ZUXW are right angles

vl e |wN e

ZUXV = ZUXW

o

UX =UX

aUVX = AUWX

AN = /W

R N AW N




3. Given: VW 1 U_X

N = /W

Prove: VW ;W

Statement Reason
. VW LUX L.
. ZUXV and ZUXW are right angles 2.
. LZUXV = ZUXW
AN =W 4.
. UX =UX
. AUVX = AUWX 6.
. WX =VX 7.
G
4. Given: EH bisects Z/FEG
EF = EG
Prove: ﬁ = (ﬁ
Statement Reason
. EH bisects Z/FEG 1.
. /FEH = /GEH 2.
. EF=EG 3.
_EH=EH 4.
. aAEFH = AEGH 5.
4 ~CH 6.
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5. Given: xis the midpoint of VW U
uv =UwW
Prove: ZUXV = ZUXW w
Statement Reason
1. xis the midpoint of VW 1.
2. VX =WX 2.
3. UV =UW 3.
4. UX =UX 4.
5. AUVX = AUWX 5.
6. ZUXV = ZUXW 6.
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6. Given: PM =RJ o
5T | T .
PT 1LTJ l:\ b ,J
RM L TJ B T ME”’HX
M is the midpoint of TJ R
Prove: aAPTM = ARMJ
Statement Reason
1. PM =RJ 1.
2. PTLT); RM 1TJ 2.
3. ZT and ZRMJ are right angles 3.
4. APTM and aARMJ are right triangles 4.
5. M is the midpoint of TJ >.
6. TM = JM 6.
7. aAPTM = ARMJ 7.
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7. Given: Z/R= /S
ZRQT = /SQT 5
Prove: @;@
Q
Statement Reason
1. ZR=/S 1.
2. ZRQT = £SQT 2.
3. QT =QT 3.
4. AQRT = AQST 4.
5. QS =QR >.
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8. Given: HV L GT _____.'--—’\j’
GH =TV H*=
| is the midpoint of HV T
Prove: AlGH = AITV
Statement Reason
1. HV LGT L.
2. ZGIH and ZVIT are right angles 2.
3. alGH and alTV are right triangles 3.
4. GH =TV a.
5. | is the midpoint of HV >.
6. HI =VI 6.
7. alGH = AITV 7.




9.

Given: K s the midpoint of ﬁ
HI =HJ)
Prove: ZHKJ = ZHKI

Statement

Reason

. Kis the midpoint of 13

IK =KJ

_HI=HJ

K = FK

aHKI = AHKJ
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. ZHKJ = ZHKI
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. Given: Sis the midpoint of @
PS 1 QR
Prove: Z/R=./Q

Statement

Reason

S is the midpoint of @

RS =SQ

PS L QR

/PSR and ZPSQ are right angles

A RS I I

/PSR = /PSQ

o

PS5 =PS

aPSR = APSQ

/Rz=/Q
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